

QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL CONTACT:

Thomasville City Schools 400 TURNER ST THOMASVILLE, NC 27360-0548 ACCOUNT NUMBER: 364454 Andrew Wiener wienera@tcs.k12.nc.us (336) 474-4200

CONTACT:

SALES REP INFORMATION:

Andrew Wiener wienera@tcs.k12.nc.us (336) 474-4200 Richie Staggs richie.staggs@mheducation.com (984) 212-0156

Section Summ	ary	Value of All Materials	Free Materials	Product Subtotal
Reveal Math K-8 Student materials		\$264,951.97	(\$78,815.62)	\$186,136.35
	PRODUCT TOTAL*	\$264,951.97	(\$78,815.62)	\$186,136.35
	ESTIMATED S&H**			\$4,459.16
	ESTIMATED TAX**			\$13,341.70
	GRAND TOTAL*			\$203,937.21

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:			

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 04/25/2022 ACCOUNT NAME: Thomasville City Schools EXPIRATION DATE: 06/09/2022

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
REVEAL MATH STUDENT 5 YEAR SUBSCRIPTION BUNDLE GRADE K	978-1-26-443802-0	177	\$91.80	\$0.00	\$16,248.60
REDBIRD MATHEMATICS STUDENT 5 YEAR SUBSCRIPTION	978-0-07-902507-4	177	\$43.80	\$7,752.60	*Free Materials
REVEAL MATH MANIPULATIVE KIT GRADE K	978-1-26-441729-2	9	\$435.99	\$0.00	\$3,923.91
REVEAL MATH WORKSTATION KIT GRADE K	978-1-26-590921-5	9	\$153.00	\$1,377.00	*Free Materials
REVEAL MATH TEACHER RESOURCE PACKAGE 5 YEAR SUBSCRIPTION BUNDLE GRADE K	978-1-26-444669-8	9	\$540.63	\$4,865.67	*Free Materials
REVEAL MATH STUDENT 5 YEAR SUBSCRIPTION BUNDLE GRADE 1	978-1-26-443804-4	171	\$91.80	\$0.00	\$15,697.80
REDBIRD MATHEMATICS STUDENT 5 YEAR SUBSCRIPTION	978-0-07-902507-4	171	\$43.80	\$7,489.80	*Free Materials
REVEAL MATH WORKSTATION KIT GRADE 1	978-1-26-590925-3	11	\$153.00	\$1,683.00	*Free Materials
REVEAL MATH MANIPULATIVE KIT GRADE 1-2	978-1-26-441731-5	11	\$513.75	\$0.00	\$5,651.25
REVEAL MATH TEACHER RESOURCE PACKAGE 5 YEAR SUBSCRIPTION BUNDLE GRADE 1	978-1-26-444677-3	11	\$540.63	\$5,946.93	*Free Materials
REVEAL MATH STUDENT 5 YEAR SUBSCRIPTION BUNDLE GRADE 2	978-1-26-443806-8	181	\$91.80	\$0.00	\$16,615.80
REDBIRD MATHEMATICS STUDENT 5 YEAR SUBSCRIPTION	978-0-07-902507-4	181	\$43.80	\$7,927.80	*Free Materials
REVEAL MATH WORKSTATION KIT GRADE 2	978-1-26-591011-2	10	\$153.00	\$1,530.00	*Free Materials
REVEAL MATH MANIPULATIVE KIT GRADE 1-2	978-1-26-441731-5	10	\$513.75	\$0.00	\$5,137.50
REVEAL MATH TEACHER RESOURCE PACKAGE 5 YEAR SUBSCRIPTION BUNDLE GRADE 2	978-1-26-444680-3	10	\$540.63	\$5,406.30	*Free Materials
REVEAL MATH STUDENT ALEKS VIA MY. 5 YEAR SUBSCRIPTION BUNDLE GRADE 3	978-1-26-448517-8	173	\$114.75	\$0.00	\$19,851.75
REVEAL MATH WORKSTATION KIT GRADE 3	978-1-26-591044-0	11	\$153.00	\$1,683.00	*Free Materials
REVEAL MATH MANIPULATIVE KIT GRADE 3-5	978-1-26-441738-4	11	\$513.75	\$0.00	\$5,651.25
REVEAL MATH TEACHER RESOURCE PACKAGE 5 YEAR SUBSCRIPTION BUNDLE GRADE 3	978-1-26-444599-8	11	\$540.63	\$5,946.93	*Free Materials
REVEAL MATH STUDENT ALEKS VIA MY. 5 YEAR SUBSCRIPTION BUNDLE GRADE 4	978-1-26-448522-2	174	\$114.75	\$0.00	\$19,966.50
REVEAL MATH WORKSTATION KIT GRADE 4	978-1-26-591105-8	5	\$153.00	\$765.00	*Free Materials
REVEAL MATH TEACHER RESOURCE PACKAGE 5 YEAR SUBSCRIPTION BUNDLE GRADE 4	978-1-26-444686-5	5	\$540.63	\$2,703.15	*Free Materials
REVEAL MATH STUDENT ALEKS VIA MY. 5 YEAR SUBSCRIPTION BUNDLE GRADE 5	978-1-26-448534-5	181	\$114.75	\$0.00	\$20,769.75
REVEAL MATH WORKSTATION KIT GRADE 5	978-1-26-591425-7	4	\$153.00	\$612.00	*Free Materials
REVEAL MATH TEACHER RESOURCE PACKAGE 5 YEAR SUBSCRIPTION BUNDLE GRADE 5	978-1-26-444693-3	4	\$540.63	\$2,162.52	*Free Materials

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 04/25/2022 ACCOUNT NAME: Thomasville City Schools EXPIRATION DATE: 06/09/2022



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
REVEAL MATH COURSE 1 STUDENT 5 YEAR BUNDLE WITH ALEKS	978-0-07-696003-3	146	\$110.16	\$0.00	\$16,083.36
ARRIVE MATH CLASSROOM GAMES KIT GRADE K-8	978-0-07-686404-1	3	\$306.00	\$0.00	\$918.00
REVEAL MATH COURSE 1 TEACHER BUNDLE TES AND TEACHER DIGITAL LICENSE 6YR SUBSC	978-0-07-681891-4	3	\$397.80	\$1,193.40	*Free Materials
REVEAL MATH COURSE 2 STUDENT 5 YEAR BUNDLE WITH ALEKS	978-0-07-696006-4	174	\$110.16	\$0.00	\$19,167.84
ARRIVE MATH CLASSROOM GAMES KIT GRADE K-8	978-0-07-686404-1	3	\$306.00	\$0.00	\$918.00
REVEAL MATH COURSE 2 TEACHER BUNDLE TES AND TEACHER DIGITAL LICENSE 6YR SUBSC	978-0-07-681894-5	3	\$397.80	\$1,193.40	*Free Materials
REVEAL MATH COURSE 3 STUDENT 5 YEAR BUNDLE WITH ALEKS	978-0-07-696007-1	169	\$110.16	\$0.00	\$18,617.04
ARRIVE MATH CLASSROOM GAMES KIT GRADE K-8	978-0-07-686404-1	3	\$306.00	\$0.00	\$918.00
REVEAL MATH COURSE 3 TEACHER BUNDLE TES AND TEACHER DIGITAL LICENSE 6YR SUBSC	978-0-07-681895-2	3	\$397.80	\$1,193.40	*Free Materials
ALEKS 6-12 ADD-ON VIA MY.MHEDUCATION.COM 5 YEAR TEACHER SUBSCRIPTION	978-0-07-697181-7	12	\$44.01	\$528.12	*Free Materials
RVL MATH INTEGRATED I SE BNDL WALEKS VIA MY.MHEDUCATION 1 5-5 5YR	978-0-07-690310-8	30	\$128.52	\$3,855.60	*Free Materials
PROFESSIONAL DEVELOPMENT HALF DAY VIRTUAL TRAINING 2 HOUR SESSION GRADE K-5	978-1-26-437304-8	4	\$1,500.00	\$6,000.00	*Free Materials
STAFF DEVELOPMENT WORKSHOP	TRN2001	2	\$3,500.00	\$7,000.00	*Free Materials

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 04/25/2022 ACCOUNT NAME: Thomasville City Schools EXPIRATION DATE: 06/09/2022



QUOTE PREPARED FOR:

Thomasville City Schools 400 TURNER ST THOMASVILLE, NC 27360-0548 ACCOUNT NUMBER: 364454

CONTACT:

Andrew Wiener wienera@tcs.k12.nc.us (336) 474-4200

GRAND TOTAL	\$203,937.21
ESTIMATED TAX**	\$13,341.70
ESTIMATED SHIPPING & HANDLING**	\$4,459.16
PRODUCT TOTAL*	\$186,136.35
FREE MATERIALS	(\$78,815.62)
VALUE OF ALL MATERIALS	\$264,951.97

SUBSCRIPTION/DIGITAL CONTACT:

Andrew Wiener wienera@tcs.k12.nc.us (336) 474-4200

Comments:			

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or <a href="https://www.mheducat

School Purchase Order Number:	_
Name of School Official (Please Print)	Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 04/25/2022 ACCOUNT NAME: Thomasville City Schools EXPIRATION DATE: 06/09/2022

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.